(m3ss XositE

| EESR(1)

eI

—/

ESE:4
HLEPNLOPDOROBOFTREND L&, DT FbENIZZhZhORXDZ b LD
KORFE D,

Bl) ZER x2+(a+b)x+ab X x+a L x+b DETH 5,

x2+(a+b)x+ab = (x+a) (x+b)
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#l) x2+(a+b)x+ab — > (x+a) (x+b)
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#l1) ab-ac=a (b-c) Bl2) *+x=xxx+xx1l=x(x+1)
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(1) ax+bx=x(a+b) (2) 12ax—6bx =6x(2a—b)

(3) 3mn+12m =3m (n+4) (4) ab+ac+ad=a(b+c+d)
(5) x2=2x =x(x—2) (6) 2m2+ 6mn =2m (m+3n)
(7) xy+xy2=xy(x+y) (8) 2a*b—3ab*=ab (2a—-3b)

(9) x2—4xy+4x =x(x—4y+4) (10) 2x2y = 3xy*+xy =xy (2x -3y +1)

(1) 9x3—3x2 =3x2 (3x—1) (12) 6x3y —4x%y>— 8x?%y
=2x% (3x-2y-4)

EEE

© 'BUI}? BYILY coxBITU> N [500F RUL BRI TENID>O-ReExEd, EEEE:



